
EE 201 —  HW 2-22     Name__________________________________________

a. Use the node-voltage method to find the power 
dissipated in resistor R4. 
 
 
 
 
 
 
PR4 = ____________________________             
 
 
 
 
 
 

b. Use the mesh-current method to find the power 
dissipated in resistor R4. 
 
 
 
 
 
PR4 = ____________________________   
 
 
 
 
 
 
 

c. Use the superposition method to find the power 
dissipated in resistor R4.  (Be careful.  Note the 
comments about superposition and power.) 
 
 
 
 
 
PR4 = ____________________________    
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